W Bt Misci FREFr X 378 5-1

BIEWE & F 2020-11-30 10:55:15 KA 529 S8R

DRER: off LERSE: off AP F misc xortool

FRALE B ASCRE ERAQICE, #IE.CC 4.0 BY-SA WRAIMY, 85 _EJFE T s M A=,
ACEERE: https://blog.csdn.net/weixin_44604541/article/details/110378348

FERAL

200 f=3C & 23 iT 5
W £

Hl 5

Yk S CHf ) TR S
Yt A Misci F 3t X 134 7%
75 7 5-1 iwriteup

RBLBR 5 R E 7 R S A
B CABUE R (2 B HE T

B 2
FFR—ARRLM

Piitwinhex


https://fishpond.blog.csdn.net
https://blog.csdn.net/weixin_44604541/category_9965853.html
https://so.csdn.net/so/search/s.do?q=ctf&t=blog&o=vip&s=&l=&f=&viparticle=
https://so.csdn.net/so/search/s.do?q=%25E6%2594%25BB%25E9%2598%25B2%25E4%25B8%2596%25E7%2595%258C&t=blog&o=vip&s=&l=&f=&viparticle=
https://so.csdn.net/so/search/s.do?q=misc&t=blog&o=vip&s=&l=&f=&viparticle=
https://so.csdn.net/so/search/s.do?q=xortool&t=blog&o=vip&s=&l=&f=&viparticle=
http://creativecommons.org/licenses/by-sa/4.0/
https://blog.csdn.net/weixin_44604541/article/details/110378348
https://blog.csdn.net/weixin_44604541/category_9965853.html
https://mp.csdn.net/clock?utm_campaign=marketingcard&utm_source=weixin_44604541&utm_content=110378348

Q0000000 |13 07 ORA 44 23 05 06 05 3D 01 3E 4F 1% 2E 01 0OA o# = =0
00000016 |44 23 13 43 1F 3C OR 79 01 1& 31 OR O3 44 23 14| D% C <y 1 D=

00000032 OE 04 21 1C 35 16 55 26 ©O1 01 OB 3% 1B 00 OE 27 ' 5 D& a '
QQooo0o4s | 55 TS 4D 3C 33 4F O 17 eC 14 43 1F 26 1A 2D O7 | UyM<3C 1 C & -
Q0000064 | 55 32 01 06 12 29 07 10 OA 38 03 20 4F 14 24 04 | D2 ) g8 08
QOoO0o0g0 (01 OB 3B 1% 0O OF 33 OA 3D 43 55 33 07 OE 10 eC H 3 =C03 1
Q0000096 | 14 43 18 3D 01 3E 03 10 &7 02 OE 04 6C 1C OD 4B C=> aq 1 K
Qoooollz 24 00 23 1C 10 34 1C 06 OB 22 55 0C Q0D 74 QE 79 & ~ 4 "ty
Qooool2e (08 1A 28 OB 4F 02 23 07 17 1E 34 0& 79 02 00 34 [ C # Ty 4
Q0000144 (1B 4F O6 2% 55 OR 05 74 18 38 01 01 &7 00 09 44 )0 & g D
QOo001e0 2D 55 14 02 32 0OA 77 4D 55 13 07 06 17 eC 06 06| -U 2 wMO 1
QQO001l7e | 1F 27 4F 34 OE 07 35 0e OE 03 2% 55 02 18 74 0E 'ge 5 10t
Qooo0192 79 0C 10 2% 1B 1D 05 20 55 10 1E 36 05 3C 0OC 01 | v ) U &6 <

00000208 |(AS EF FB 05 22 11 43 19 31 OE 35 03 OC 6B 4F QE | ¥id " C 1 &5 kO
00000224 |44 2F 10 OD 1F 26 COE 35 4F 05 35 00 OD 08 29 18 | O/ & 50 5 )
QQo00240 |81 EB CO 0% 3e 1D 55 33 O7 OA 44 22 1A 15 QOE 38 g4 € U3 v 8

Q0000256 | 4F 3E O 1B 22 1D OE 08 20 0OC 4D 4B 06 0& 38 0B | C» " ME &
QoooozTe 10 35 1C 4F 05 3E 10 43 1B 3B 06 24 OA 11 &7 1B SQ>C * g
Qooooz28s 00 44 3D 00 06 18 20 06 36 01 55 30 07 0& 10 24 b= & 10 -3
Q0000304 |10 11 4B 3B 1D 7% 01 1A 33 4F 1B 0OC 29 06 06 4B E: v 30 ) K
QQoOpo320 27 O 37 08 1% 22 4F 02 01 22 55 02 1% 31 43 79| " 7 "o "O 1Cy
Q0000336 06 1B €7 0% QOE 07 38 59 43 02 34 4F 2E 0OE 1B 33 a BYC ::C. 3

QQooo352 4F 00 02 eC 14 43 1C 3D 0% 3C 43 55 28 1D 4F 0D |QC 1 C = <CO( C
QOo00368 | 2A 55 10 1E 37 07 7% 0B 10 34 06 1D 01 3F 55 02 | *0 Ty 4 0

00000384 | 1S 31 4F 3D 06 16 33 OE 1B 01 28 55 0l 12 74 18| 10-= 3 (U t
00000400 |31 OA 55 65 01 OA OD 2B 1D 01 04 21 1D 31 00 1A | 1 Ue + 1 1
00000416 23 4D 4F 02 2D 18 O 07 3D OR 2A 4F 14 29 0B 4F | #4C - = *Q ) ©
00000432 |10 24 10 O 16 74 0B 38 1A 12 2F 1B OA 16 3F 55| § «t© & / 20
00000448 14 03 3B 4F 2B OA 04 32 06 1D Ol 6C 14 43 49 33| ;04 2 1 CI3
00000464 00 36 OB 55 21 00 1D 10 38 1B 06 49 TA 4F 14 OE| 6 U! & Iz0
00000480 07 35 06 OE 03 28 55 QA 18 74 OE 79 0C 1A 2A 1F| 5§ 1)U t y *
00000496 03 01 34 55 10 04 37 06 323 03 55 26 0C 1B OD 34| 40 7 & Us
00000512 | 1C 17 12 74 1B 31 OE 01 €7 1B OE OF 29 06 43 1B t1 g 3 cC
00000528 3B 03 30 1B 1C 24 OF 03 44 29 16 0C 05 38 02 20| ; 0 § ©)

REKE

THTHE

I & xortool

8 3lkey: GoodLuckToYou
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key = 'GoodLuckToYou'
flag = "'
with open('1') as f:

con = f.read()

for i in range(len(con)):

flag += chr(ord(con[i]) ~ ord(key[i%13]))

f = open('flag.txt', 'w')
f.write(flag)
f.close()
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